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n. {4 pointa) The following graph shows the distance s(t} travelled along a bighway by a car
driving away from & city. From the shape of the graph, explain answers to the questions.
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{a) Was the car going faster at the time cnnﬂwpnnding to point & or the time corresponding to
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(b) Was the car for the t:l]'.I:I:F"i"lE‘hl"[-'E]:l. points B a.mi-‘]?g;rﬂatﬂr Lhian or less
Lhan the car's instantanecus velocity at the time correaponding to the peint 57 Explaio.
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{e) What was the car dnmg during the times corresponding to points bet.ws'e-n D and E7 Exrﬂ%
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